
Questions for: PROBLEM SET 03B
Name _______________________________     Section _____________

Use your worksheet and graph to answer the following questions.

1. Given the initial equations,  the equilibrium price in the 

   market is ____ and the equilibrium quantity is ____.

2. Since at the equilibrium point the price is the same for both equations (or lines), you can, at that point, set the two equations equal to each other and solve for quantity.  Do this and show the work below.  You should get the same answer for quantity as you did in question 1.  If you did not, there is an error, either in your math or in reading the graph.

3a. Change the intercept of the demand curve to 30.  Notice that this change indicates a change in demand, i.e., a shift in the curve and not just a movement along it.  The new equilibrium 

    price will be ____, and the new equilibrium quantity will be 

    ____.

    Note that when the demand curve shifted you simply moved along the supply curve to the new equilibrium point.  There was a change in demand and a change in the quantity supplied. Note the terminology.

3b. Restore the demand equation to its original settings (40,-1). See if you can get to your new equilibrium P and Q just by changing the slope of the demand curve?  What is that slope?

    ____


The following observation should be made.  Just because we observe a market in equilibrium, without additional information we can not say anything specific about the shape of the demand and supply curves in that market.  Many different demand or supply curves could yield the same observed equilibrium point.

4a. Return the equations to their original settings, (40,-1) and (10,1).  Increase the slope of the supply curve to 2.  Provide a plausible economic reason for this increase in the slope of the supply curve.

4b. The new equilibrium price is ____, and the new equilibrium 

    quantity is ____.

5a. Return the equations to their original settings (40,-1) and (10,1).  Decrease the intercept of the demand curve to 16 and increase the intercept of the supply curve to 20.  Provide an economic reason for each of these shifts.

5b. Describe the situation in the market place.

Suppose now that there are two different consumers in the market place. Click on the “Two demands” tab at the bottom of your worksheet.  (The “data (2)” worksheet contains the data for this graph.)

6. What could account for the different demand curves for these two consumers?  Give at least two reasons.

7. If the market price is 20, how many units will each consumer demand?


Consumer 1: ____, Consumer 2: ____.


If these two individuals comprise the entire market, the total market demand when price is 20 would be ____.


Congratulations!  You have just found a point on the market demand curve.

8a. Increase the intercept of consumer 2’s demand curve to 50 and  decrease the slope to -5.  Is it OK if these demand curves intersect?  Explain.

8b. If the market price is 20, how much will each consumer demand and how much will the market demand be?


Consumer 1: ____,    Consumer 2: ____,    Market ____

